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(D When will the man/woman. .. ?

@ How long has the man/woman. . .

@ Excuse me. What time is it by your
watch?

@ What’s the time, please?

®What time will the plane/ship...?

©®What time does man/woman. .. ?

When did the plane leave?
A.10:45. B.10:50. C.11:15.

You will hear:.

%M;The flight for Shanghai left 15 minutesé
ago. 5
W That's rightsit’s already 11,05,
ST d 3t P 4R 3] 89 “ The flight left
15 minutes ago” #= “it’s already 11:05” 7] %=
KALA KB B A 1050,
E%x:B

+ A 0| %4
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s AR I, O bR 7 G B A D A . T 58
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1. When will the couple’s parents arrive at

their home?

A. At seven in the morning.

4

H—1 B (When)

B. At seven thirty in the morning.

C. At seven thirty in the evening.

. What time will they get home if everything

goes as planned?
A. Around 7:00.
B. Around 9:00.
C. Around 9:30.

. How long has the man been waiting for the

appointment?
A. Seven hours.
B. Six hours.
C. One hour.

. What time will the taxi arrive at the door

of the hotel?

A.3:30 p.m..
B.3:00 p.m..
C.3:20 p.m..

. When does this woman probably want the

car to be repaired?
A. At seven o’clock.
B. Immediately.

C. It is not clear.

. When will Mrs. Jones be free if there’s a

cancellation?

A. She will be free at eleven thirty.

B. She will not be free until half past
three.

C. She will be free before three p. m. .

. When will the man go to the airport?

A. After he finishes the job.
B. At twelve o’clock.
C. He will go to the airport right now.

. When will the woman get to the station?

A. At three p. m. .
B. Before two thirty p. m. .
C. After two thirty p. m. .

. When will Mary arrive at the latest, ac-

cording to the man?
A. By ten o’clock.



B. At eight o’clock.
C. By nine o’clock.
10. When are the banks open on Wednesdays?
A. At eight.
B. At nine.
C. At ten.
11. What time does Flight 583 take off?
A.9.30.
B. 8:45.
C. 9:50.
12. When did the man make a speech?
A. This morning.
B. The day before yesterday.
C. Yesterday.
13. When can the news be heard on BTV-1
this evening?
A.7:00.
B. 8:30.
C. After The Life program.
14. When will Andrew be flying out to Paris

from Amsterdam?

B. Tuesday.
C. Wednesday.

16. When should the man go to meet Professor
Brown?

A. At 10.00.
B. At 10.30.
C. At 11.00.

17. When did Philo Farnsworth develop his o-
riginal idea of sending pictures through
the air?

A.In 1916.
B. In 1922.
C.In 1926.

18. When did Jim buy the new car?

A. Not long ago.
B. Six years ago.
C. On his birthday.

19. When is the dialogue taking place?

A. After school.
B. In class.

C. During the break.

A. Friday. 20. What time is it in fact?
B. Saturday. A.5:40.
C. Sunday. B. 5:45.
15. What day is today? C.5:50.
A. Sunday.
5 M (Where)

AL 4

FENT A0 3 M s 5 3 B 2R A A B
IR FE A o B A9 R A 2 A X 37 XU
LR Bl A B KR A T AR ) AT
P — LEFHF E 3 A A 8 Bl tt m]
TEA [ & ), i 2% W g v — RO 2 25 1) Wi
N e A | S B ey I S N R &
B VET HL RN LB Ry iR S . 1
P 2 R T Y M A Y BEAE R
it TR 278 s a5 A 44 ) B AT i oy e
w8 MU, S0 B XS A B S

SOG40 - 5 0RO A OC 1Y 18] : reser
vation,menu,order, beer,drinks, eat, bill 4§ ;
5 % JE A X MY id. customer, assistant,
clothes, price, cheap, expensive 25 ; 5 E i
7% B9 id] . doctor, nurse, medicine, patient,
check, headache, toothache, flu, cough %%,
HoAh 756 3 LAY ) & 25 A2 w] DLAE P15k 22 0 83
BOMHERYN,

HIF—PE 0 &, AU iEEE A S B
R~ 1 s s v aE R 23 AL AR A B
2HEZMHGARHFEE, XMELT, 3
RO OGS, A N LA, WY A I A BT )



RiERUE E%English i
o A RB ) 6 R AR .
w4 R) J7 204
(D Where is the man/woman?
@ Where does the conversation most
probably take place?
@ Where are the two speakers now?

@ Where is the man/woman going?

Where does the conversation take place?
A. In the waiting-room.

B. At the man’s home.

C. In a restaurant.

You will hear:.

W Have you ordered yet? ;
iM:No, I'm just looking at the menu. Areé
: you hungry?
%W;Yes. Right now I could eat a sandwich.

ST R T RAR I AT R A H) B AT iE
B R B e BE T “ordered” , “menu” , 7k
OB AT E R AR, AR E A C,

EX.C
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1. Where is the woman going?
A. A bookstore.
B. A department store.
C. A shoe store.

2. Where is the woman?
A.In a car.
B. In a bar.
C. In a park.

3. Where does the conversation most probably
take place?
A.In a bank.
B. In a post office.

6

C. At the airport.
4. Where does this conversation probably take
place?
A. At home.
B. At the doctor’s.
C. In a shop.
5. Where does this conversation probably take
place?
A. In a professor’s office.
B. In an interview room.
C. In a doctor’s office.
6. Where does this conversation probably take
place?
A. At the hotel.
B. In the office.
C. In the customs.
7. Where does the conversation most likely
take place?
A. In the teacher’s office.
B. In the class.
C. In a post office.
8. Where should the man be on Wednesday?
A. At a conference.
B. At the warehouse.
C. In the office.
9. Where is Peter now?
A. In the office.
B. In the hospital.
C. Home in bed.
10. Where does this conversation probably
take place?
A. In a bookstore.
B. In a department store.
C. In a ticket office.
11. Where are the speakers standing?
A. Near an art museum.
B. At a science exhibit.
C. Near a paint store.
12. Where are they?
A. In a hotel.
B. In a car.

C. In a restaurant.



13. Where does the conversation most likely
take place?
A.On a bus.
B. On a train.
C. On a plane.
14. Where are the speakers?
A. In a classroom.
B. In a library.
C. In a lab.
15. Where does the conversation most likely
take place?
A. At home.
B. In a car.
C. In the street.
16. Where are the two speakers?
A. In a hotel.
B. In the street.
C. In a restaurant.

17. Where does the conversation most likely
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take place?
A. At the airport.
B. In a hospital.
C. In a hotel.
18. Where does the conversation most likely
take place?
A.In a taxi.
B. On a bus.
C. On a train.
19. Where does the conversation most likely
take place?
A.In a garden.
B. In a flower shop.
C. At the woman’s home.
20. Where does the conversation most likely
take place?
A. In a bank.
B. In a post office.
C. In a food market.

A5 45 B (Reasons and results)

Fr b e F B R R Rl E R LT X
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(DO Why does the man/woman. . . ?

@ Why did the man/woman. .. ?

@ What caused the...?

@ For what reason did the man/
woman. .. 7

® What will happen do you think ac-
cording to... 7

©® What would happen next do you
think?
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Why does the woman walk all the way
to the office?

A. She takes it as a kind of exercise.

B. She wants to save money.

C. Her office is not very far.

You will hear:

M Hi, Kate. I hear that you walk all the
. way to the office these days. :
W Yes, 1 have found great pleasure 1n

walking. That’s the type of exercise I

enjoy very much,

S AMERAIATHARK &6,
PRARXAZLENR, RETFHEANAAE
AWy 35 . “1 have found great pleasure in
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1. Why does the woman want to change her

job?
A. To make more money.
B. To meet more challenges.
C. To get better office environment.
2. Why does the woman say sorry to the man?
A. He met with an accident.
B. His son met with an accident.
C. His daughter met with an accident.
3. Why can’t the man get the shirt?
A. This kind of shirt has been sold out.
B. This kind of shirt is only on display.
C. The woman doesn’t want to sell it to

him.

4. Why does the man want to go to Africa?
A. To end his friendship with the woman.
B. To marry a doctor in a medical team.
C. To see the world.

5. Why didn’t the man get the drinks?

A. He forgot about it.
B. There were no drinks at the store.
C. The store didn’t send them to him.

6. Why can’t the man sit on the chair?

A. It is broken.
B. It’s too expensive.
C. It has just been painted.

7. What’s the result of the invention of the
computer?

A. It has become smaller and smaller.
B. Our life has been changed a lot.
C. It works faster and faster.

8. What’s the probable result of the conversation?

A. The speakers will have a meeting.
B. The speakers will drink some coffee.
C. The speakers will have an English class.
9. What’s the result of the woman’s test?
A. She passed it.
B. She didn’t pass it.
C. She hasn’t known about it.
10. What’s the result of the match?
A. They were equal.
B. The man’s team won.
C. The man’s
11. Why didn’t the girl go to the movies?

A. She had to review her lessons.

s team were defeated.

B. She had seen the movie before.
C. She didn’t want to go with the boy.
12, Why did the man buy the book?
A. He wanted to write an advertisement.
B. He needed the information in it.
C. He needed to write a new book.
13. Why do they go on the overpass?
A. Because a policeman is standing there.
B. Because it is safe.

C. Because they are too young.



14. Why couldn’t the man get through?
A. The woman'’s telephone was out of order.
B. The receiver of the woman’s telephone
was broken.
C. The woman’s receiver wasn’t put in
the right place.
15. Why didn’t the woman buy the shorts?
A. They were too large.
B. They were too tight.
C. She didn’t like the style.
16. Why does the man ask about the game?
A. He would like to get a ride.
B. He wants to know when the game will
begin.
C. He wonders whether there will be a
game tonight.

17. Why couldn’t the woman get through to
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(MDWho is the man/woman?

@ Who is the man/woman talking to?

@ who are the man and woman talking
about?

@D Who will be absent at last?

®Who do you think would. .. ?

# p) 4%

1. Who is the man talking to?
A. A saleswoman.
B. A waitress.

C. A reception clerk.

the man?
A. His mobie was broken.
B. His mobie didn’'t work.
C. His mobie was power off.
18. Why didn’t the man go to the exhibition?
A. Buying tickets took time.
B. The ticket was too expensive.
C. Da Vinci was not his favorite.
19. Why does Mr. Carson refuse to eat more
ice cream?
A. Because he was full.
B. Because he was sick.
C. Because he was worried about getting fat.
20. Why does this cat climb all over people?
A. It’s her way of welcoming people.
B. It’s her way of annoying people.
C. She wants to eat.

AN (Who)

You will hear:

W How long do you plan to stay? :
M. Tll be checking out on Wednesday morning,

4 #r: @ “TI'll be checking out on
Wednesday morning” 7 42, &4 K 5 & JF 3k
Y ¥ 5 man AFiE 69 B A FRAEEF A

Ex.C

2. Who skates best according to this di-
alogue?

A. William.

You will hear:.

B. Mary. C. John.

: Hello! William.
: Hi, Mary. What are you going to do?
: Hi, Mary. What are you going to do?

w

M

:W

‘M. Isn’t it hard to learn skating?

iVV:NO. What you need is balance?
M:Could you teach me how to skate? :
W :Sure, but John, my friend skates betteré
than me, 1 will ask him to help you. I

M : Thank you.
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S #: & “could you teach me...” #= | 8. Who got the best result in the maths exam?
“...but John, my friend skates better than A. Tom.
me” T4, EHAE A C. B Mary.
ER.C C. Tom and Jack.
% 7?{ o ﬁ: 9. Who spoke first in the meeting, according

to the conversation?

VR 20 BOW i, REHEIRA 4 A Mark.

AN BT ABLC SABTHREE B Dean.
AT, I AR KB M B OB . TR ¢ Allan,

BOXEJG RHERA 10 B DR A A% 10, Who is the woman?
ANERIB BT /ML BBOIEUE . A A teacher.

1. Who is going t this weekend? i
o is going to see Jane this weeken B. An assistant.

C. A student.
11. With whom did the man wish to talk?

A. Tom and the woman.
B. Tom,Bob and the woman.

C. The woman.

2. Who do you guess is talking with Tom? A. Shirley.
A. Tom’s mother. B. Rich.
B. Tom’s boss. 3 C. Peter.
C. Tom’s friend. - 12. Who will leave Shanghai soon?
3. Who is the man? A. Emily.
A. A nurse. B. Emma.
B. A dentist. C. Daniel.
C. A patient. 13. Who is the woman?
4. Who do you think will pick up the chil- A. The man’s wife.
dren? B. A policewoman.
A. The woman. C. The man’s granddaughter.
B. The man. 14. Who is the man?
C. Neither the woman nor the man. A. A taxi driver,

5. Who will most possibly pay the bill?
A. The man.

B. The woman.

B. A traffic policeman.
C. A restaurant waiter.

15. Who will get used to the life in Texas
C. Both the woman and the man.

soon?

6. According to the conversation, who is the

best student of all? A. Joe.

A. Tom. : B. David.

B. Jim. C. Mary.

C. Jack. 16. Who is helping mother to do housework
7. Who will be absent at last? now?

A. Mary. A. Jack.

B. Lily. B. Alice.

C. Mary and Lily. C. Neither of them.
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17. Who is the man?
A. A writer.
B. A publisher.
C. A salesman.

18. Who are the two speakers?
A. Waiter and customer.
B. Servant and hostess.

C. Room keeper and a visitor.
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(D What does the man/woman like do-
ing?

@ What is the man/woman doing?

@ What are they talking about?

Y EY:

What’s the hardest thing the woman
thinks in learning English?

A. Reading.

B. Listening.

C. Speaking.

You will hear:.

iM;What do you find hardest in English?
?W;I find listening really hard. Sometimes?

it’s just impossible to understand.

4 #7: w“I find listening really hard” =T
Fo NI AN A T RAEF
ZX.B

19. Who is Miss Smith?
A. A nurse.
B. A doctor.
C. A housekeeper.
20. Who are the man and woman talking about?
A. The taxi driver.
B. The waiter.
C. Their boss.
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1. What will the woman probably do tonight?

A. Go out for dinner.
B. Go to see a film.
C. Stay at home and watch TV,
2. What activity are they interested in?
A. Talking.
B. Walking.
C. Running.
3. What will the weather be like?
A. Rainy.
B. Snowy.
C. Sunny.
4. What does the woman suggest the man do?
A. Go to bed earlier.
B. Move his alarm clock.
C. Turn the alarm off.
5. What does Sam like doing?
A. He likes staying home.
B. He likes going out in the cold.
C. He likes going to see films and plays.
6. What is the man doing?
A. Visiting a computer.

11
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B. Having a job interview.
C. Making a telephone call.
7. What did the man buy?
A. The suit.
B. The style.
C. Nothing.
8. What does the woman decide to do?
A. She will invite the man to lunch next
time.
B. She won’t treat him next time.
C. She’d like to have lunch with the man
again.
9. What is the woman’s problem?
A. Someone has taken away her luggage.
B. Her luggage has been delayed.
C. Her flight is 15 minutes late.
10. What’s the woman going to do on Satur-
day?
A. Watching basketball games.
B. Go shopping.
C. Walk along the street.
11. Which sign will the man see?
A. NO PARKING!
B. NO SMOKING!
C. NO PHOTOS!
12, What did the woman ask the man?
A. Whether he had to work on the week-
end.
B. Whether he could let her use his of-
fice.
C. Whether he could help her with her
project.
13. What does the woman advise the man to
do?
A. Type the address once again.
B. Have someone repair the computer.
C. Get some information from another
Web site.
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14.

15.

16.

17.

18.

19.

20.

What are the man and the woman doing?

A. They are talking about the holiday.

B. They are talking about the working
hours.

C. The woman is interviewing the man.

What’s the matter with the man?

A. He is going to be killed.

B. His leg was badly wounded.

C. He cannot wait for the ambulance any
longer.

What is the man probably doing sitting in

the car all by himself?

A. Doing nothing but wait.

B. Looking at the traffic.

C. Killing someone.

What will the woman do according to the

man?

A. Send the e-mail first.

B. Type the paper first.

C. Send the e-mail and type the paper at
the same time,

What can you guess the man is doing?

A. He is drinking some coffee.

B. He is staying up late.

C. He is asking the woman to wake him
up on time.

What should Jane do now?

A. She should prepare for the midterm
exam.

B. She should stop playing and go to bed
quickly.

C. She should play volleyball rather than
football.

What makes the man feel so bad?

A. He feels himself stupid.

B. His book is too badly written that the
woman can’t understand it.

C. His book won’t be published.



